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Question Number : 436 Question Id : 21280731816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The following are features of flexible exchange rate system select the correct option.

(A) Give more flexibility to government.

(B) Restricts countries in conducting monetary policies.
(C) Government intervenes to comes gaps in BOP.

(D) Automatically takes care of surplus and deficit in BOP.
(E) Speculator attack on currency.

Choose the correct answer from the options given below :
(1) (A)and (B) only

(2) (A)and (D) only

(3) (C) and (D) only

(4) (D) and (E) only

Options :

212807127261. 1
212807127262. 2
212807127263. 3
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212807127264. 4

Question Number : 436 Question Id : 21280731816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807127261. 1
212807127262. 2
212807127263. 3
212807127264. 4

Question Number : 437 Question Id : 21280731817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the production of sugar, sugarcane is

(1) A Final good

(2) A Capital good

(3) An intermediate good
(4) A Consumer good

Options :

212807127265. 1
212807127266. 2
212807127267. 3
212807127268. 4

Question Number : 437 Question Id : 21280731817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :
212807127265. 1
212807127266. 2

212807127267. 3
212807127268. 4

Question Number : 438 Question Id : 21280731818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In this diagram, budget line goes flater from P; P, to P, P1'. The reason for budget line being flater

15 :
Goods - A
P,
0 —
Py P P,

{1) No change Goods-B price.
(2) Goods-B price increases
(3) Goods-B price decreases
(4) Goods-A price decreases

Options :

212807127269. 1
212807127270. 2
212807127271. 3
212807127272. 4

Question Number : 438 Question Id : 21280731818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807127269. 1
212807127270. 2
212807127271.3
212807127272. 4

Goods - B

1

Question Number : 439 Question Id : 21280731819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following is not a part of money supply ?

{1) Reserve money
(2) E-wallets
(3) Saving deposits
(4) Recurring deposits
Options :
212807127273. 1
212807127274.2

212807127275.3
212807127276. 4

Question Number : 439 Question Id : 21280731819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(4) swafd srd (Recurring deposits)
Options :

212807127273. 1
212807127274. 2
212807127275. 3
212807127276. 4

Question Number : 440 Question Id : 21280731820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A student of econemics has recorded following transactions under revenue receipts, Identify the
incorrect item recorded by her, if any :
(1) Duties levied on goods produced within country
(2) Value of goods produced by government undertakings
(3) Dividend received on investments made by government
(4) Cash grants in aid received from foreign countries
Options :
212807127277. 1
212807127278. 2

212807127279. 3
212807127280. 4

Question Number : 440 Question Id : 21280731820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

2128071272717. 1
212807127278. 2
212807127279. 3
212807127280. 4

Question Number : 441 Question Id : 21280731821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Question Key Details :

Key Value
Comprehension MCQ

The first industrial policy resolution (IPR) in independent India was intreduced in year
(1) 1948

(2) 1984
(3) 1958
(4) 2000
Options :

212807127281. 1
212807127282.2
212807127283. 3
212807127284. 4

Question Number : 441 Question Id : 21280731821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

iy yrd § v sitEifirs ify e o | Ay e e e
(1) 1948

(2) 1984

(3) 1958

(4) 2000

Options :

212807127281. 1
212807127282.2
212807127283. 3
212807127284. 4

Question Number : 442 Question Id : 21280731822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Regulation of markets aim to create orderly and transparent marketing conditions. Name the
group that has been benefited from this :

(1) Consumers

(2) Midlemen

(3) Consumers and farmers
(4) Agents and traders

Options :

212807127285. 1
212807127286. 2
212807127287. 3
212807127288. 4

Question Number : 442 Question Id : 21280731822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Key Value
Comprehension MCQ
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(3) SushaRn o Ppam

(4) W2 i emwd

Options :

212807127285. 1
212807127286. 2
212807127287. 3
212807127288. 4

Question Number : 443 Question Id : 21280731823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The difference between national income and domestic income is . Choose the correct

answer from the following.
(1) Netindirect taxes
(2) Net factor income from abroad
(3) Consumption of fixed capital
(4) Intermediate goods

Options :

212807127289. 1

212807127290. 2

212807127291. 3
212807127292. 4

Question Number : 443 Question Id : 21280731823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807127289. 1
212807127290. 2

212807127291. 3
212807127292. 4
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Question Number : 444 Question Id : 21280731824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the correct statements from the following :

(A) When central bank buys securities without any promise to sell them later is called injecting
(B) Open market operations in buying and selling of securities by the commercial bank

{C) Open market operation leads to a change in bank rate

(D) When central bank sells securities without any promise to buy them later is called injecting
(E) RBI influences money supply through open market operations

Choose the correct answer from the options given below :

(1) (A)and (E) only

(2) (A)and (D) only

(3) (E) and (D) only

(4) (B) and (C) only

Options :

212807127293. 1
212807127294. 2
212807127295. 3
212807127296. 4

Question Number : 444 Question Id : 21280731824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :
212807127293. 1

212807127294. 2
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212807127295. 3
212807127296. 4

Question Number : 445 Question Id : 21280731825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In India, Fiscal Responsibility and Budget Management Act, (FRBMA) was enacted in the year

(1) 2000 -

(2) 2003

(3) 2009

(4) 2005
Options :

212807127297. 1
212807127298. 2
212807127299. 3
212807127300. 4

Question Number : 445 Question Id : 21280731825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
YR H T IR e iR s wava sifufiag (FRBMA) oY o @r T wan o
(1) 2000
(2) 2003
(3) 2009
(&) 2005
Options :

212807127297. 1
212807127298. 2
212807127299. 3
212807127300. 4

Question Number : 446 Question Id : 21280731826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Match List - T with List - IL

List - I List - II
(A) Export of goods and services (D  Excess of export of goods over import of
goods
(B) Trade surplus () An element of invisible item
(C) Current transfers fo rest of the world (Il  Recorded in credit side the current
account BOP
(D) Portfolio investment (IV) Foreign institutional investment

Choose the correct answer from the options given below :
(1) (A1), (B)-(I), (O)~(IV), (D)~(1I)

(2) (A1, (B)-(I), -1, (D)(IV)

(3)  (AD, (B)-(I), (O, (D)-(IV)

(4) (A}, (B, (CH-(D, (D)-(IV)

Options :

212807127303. 3
212807127304. 4

Question Number : 446 Question Id : 21280731826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Teit-1 § GEl-11 &1 foere Hifaa

g1 -1
(A) gl o daed o Frafa () orenfud agedl @ Frifda axgedt @ sifurs g

(B) =TI Afirdy () S7ged we A1t e
(C) sy Teree = <oy ST=em (1) BOP % =re] W % Sfaid <M1 &l o et g
(D) dfaynr fram (1v) Tadeh deenmy o

i few sru faredi o 4 98 39 1 99 Sife .
(1)  (A)D), (B)-(ID), (O)-(IV), (D)-(1T)

(2) (AL, (B)-(ID), (O)-(D), (D)-(IV)

(3) (A0, (B)-(I), (O-(ID), (D)-(IV)

(4) (A)(D, (B)-(I), (O(1D), (D)-(IV)
21280712:7301. 1

212807127303. 3
212807127304. 4

Question Number : 447 Question Id : 21280731827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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|C0mprehension

IMCQ

Arrange the correct sequence on the basis of the year of infroduction :
(A) New agriculture strategy

(B) First industrial policy in India

(C) Second industrial policy in India
(D) Commission of agriculture cost and price
Choose the correct answer from the options given below :

(1) (&) (D), (B), (©)
(2) (B (D) (A) ©)
(3) (©), (B), D), (A)
(4) (B) (O, (A), D)

Options :

212807127305. 1
212807127306. 2
212807127307. 3
212807127308. 4

Question Number : 447 Question Id : 21280731827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Trefafiga it oo ar] 80 o & syt e 3fad wrer wa § Fruifa ifs

(A) w1 »fy Hifa

(B) wea § weg sfenfirs Aify
(C) wrea ¥ Tgefra siehfirer Aifa
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(1) (A) D) (B) (©)
(2) (B), (D), (A), (O
(3) (©. (B), (D) (A)
4 (B (), (A) (D)
Options :

212807127305. 1

212807127306. 2

212807127307. 3
212807127308. 4

Question Number : 448 Question Id : 21280731828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key
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Comprehension
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The aim of the instruments that initiated to improve the marketing aspect is :
(1) To increase income inequalities
(2) To increase the national income
(3) Providing the food grains at a subsidised price to the poor
(4) Providing the food grains at a higher price
Options :
212807127309. 1
212807127310.2

212807127311. 3
212807127312. 4

Question Number : 448 Question Id : 21280731828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807127309. 1
212807127310. 2
212807127311. 3
212807127312. 4

Question Number : 449 Question Id : 21280731829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Nation is a lender to other countries means :
(1) Surplus current account

(2) Deficit current account

(3) Trade surplus

(4) Trade deficit

Options :

212807127313. 1
212807127314. 2
212807127315. 3
212807127316. 4

Question Number : 449 Question Id : 21280731829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807127313. 1
212807127314. 2
212807127315.3
212807127316. 4

Question Number : 450 Question Id : 21280731830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What is the General shape of Demand curve ?
(1) Upward sloping straight line
{2) A line parallel to x-axis
(3) Generally downward sloping to all normal goods
(4) A line parallel to y-axis
Options :
212807127317 1
212807127318. 2

212807127319. 3
212807127320. 4

Question Number : 450 Question Id : 21280731830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

[T 5 1 RIERT B9 Y SR 70 2ran & 7
(1) = =t i ger Wit

(2) x-3% FH YHAFR TH &

(3) st wer el sl A Y ol wew
(4) -3 S FHFETGL UH L

Options :

212807127317. 1
212807127318.2
212807127319. 3
212807127320. 4

Question Number : 451 Question Id : 21280731831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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|C0mprehensi0n IMCQ

Choose right statement of flows :
(1) Referred yearly or monthly
(2) Time period is not mentioned
(3) Defined at a particular point of time
(4) Over a period of time
Options :
212807127321, 1
212807127322.2

212807127323.3
212807127324. 4

Question Number : 451 Question Id : 21280731831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

g & ferw 9dl w1 gHrE i

(1) i = mfees 3 v9 d Soora S g
(2) wa wurafy w onfier e e v &1
(3) uftwmn feredt Ffvae a9 vt o €1
(4) U guaraty & T witenfig forem smar &1

Options :

212807127321. 1
212807127322.2
212807127323.3
212807127324. 4

Question Number : 452 Question Id : 21280731832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The process of selling off part of equity of PSE is called :
(1) Nationalisation

(2) Disinvestment

(3) Restructuring

{4) Shutting down

Options :

212807127325. 1
212807127326. 2
212807127327.3
212807127328. 4

Question Number : 452 Question Id : 21280731832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value |
Comprehension MCQ
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Options :

212807127325. 1
212807127326. 2
212807127327.3
212807127328. 4

Question Number : 453 Question Id : 21280731833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the correct sequence according to the year of Establishment/Commencement.

(A) Nifi Aayog
(B) First five year plan

(C) Planning Commission

(D) Pericd of Plan holiday

(E) Foundation of British colonial rule in India

Choose the correct answer from the options given below :

(1 () (€, (B) (D) (&)
(2 (O (B), (D) ©) (&)
(3 ©. (B) (© (A) (D)
@ (B) (O, (D) ©), (&)
i 137529. 1
212807127330. 2

212807127331. 3
212807127332. 4

Question Number : 453 Question Id : 21280731833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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(A) Hif s
(B) uHW g ol s
(C) drsr s

(D) Al ST H1 Y (Period of Plan holiday)
(B) wrea ¥ fafew sufvdel wrea = wrar

i e 1 Tospedi & & W& S w1 =g i
(1) (E) (O (B), (D), (A)

(2) (O, (B). (D), (E) (A)

(3) (B} (B), (O) (A), (D)

@) (B (O (D) (E) (A)

Options :

212807127329. 1
212807127330.2
212807127331.3
212807127332. 4

Question Number : 454 Question Id : 21280731834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

One of the following function is performed by the government it if intervenes either to expand
demand or to reduce it. Select the correct answer.

(1) Allocation function

(2) Redistribution function
(3) Stabilisation function
(4) Public provision

Options :

212807127333. 1
212807127334.2
212807127335.3
212807127336. 4

Question Number : 454 Question Id : 21280731834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag

-



HIHR 1 gAY oY g8 1 W R w@ ¥ fou 8 st sy o % fau, sw w9 e o 8
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(1) €T e

(2) YA swaed Hrd

(3) Terdswon =

(4) S HISE A TSy
Options :

212807127333. 1
212807127334. 2
212807127335.3
212807127336. 4

Question Number : 455 Question Id : 21280731835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The government budget of a hypothetical economy presents the following information :
(A) Revenue expenditure = ¥ 25,000 crores
(B) Capital expenditure = ¥ 35,000 crores
(C) Capital receipt = ¥ 30,000 crores

(D) Revenue receipt = ¥ 20,000 crores

(E) Interest payment = ¥ 10,000 crores

(F) Borrowings = ¥ 20,000 crores

Which of the following is Budget Deficit ?

(1) ¥ 12,000 crores

(2) ¥ 10,000 crores

(3) ¥ 20,000 crores

(4) ¥ 5,000 crores

Options :

212807127337. 1
212807127338.2
212807127339. 3
212807127340. 4

Question Number : 455 Question Id : 21280731835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

s collegedunia:
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A G2 Wk ey Aenfia sreforaen ) Fretfafe g & omam w yelifa 6 &1
(A) TSR 3 = ¥ 25,000 FUE
(B) IsfE = = 35,000 FUS
(C) Ysfme wifer = 230,000 A
(D) srea wifrdl = % 20,000 3g
(B) SIS ST = € 10,000 HUS
(F) 3Hw&ES = €20,000 %38
frefafar § 4 e g FH W 2
(1) 12,000 $Ug

(2) ¥10,000 HUg

(3) 20,000 &qg

(4) ¥5,000 %UT

Options :

212807127337. 1
212807127338.2
212807127339. 3
212807127340. 4

Question Number : 456 Question Id : 21280731836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Functions of central bank are :
(A) SLR

(B) CRR

(C) Open market operations
(

(

J

) Banker’s Bank

E) Issue of currency

Choose the correct answer from the options given below :
(1) (D) and (E) only

(2)
(3) (C) and (D) only
(4) (A)and

Options :

212807127341. 1
212807127342.2
212807127343. 3
212807127344. 4

Question Number : 456 Question Id : 21280731836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

IKey Value
s collegedunia:
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|C0mprehensi0n IMCQ

ETHL CED %T!f% :
A) SLR
By CRR

(
(
(C) geft wremt famd
(
(

T

D) W@t # d%

E) g1 FrteA

g feu e fawedi § @ W SOCH Ty wifea
(1) e (D) 3R (E)

(2) % (A) ()

(3) e (C) ¥R (D)

(4) % (A) 3R (B)

Options :

212807127341. 1
212807127342. 2
212807127343. 3
212807127344. 4

S

Question Number : 457 Question Id : 21280731837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The Book “All Enquiry into the nature and causes of the Wealth of Nations” written by :
(1) John Maynarel Keynes
(2) Adam Smith
(3) Marshal
(4) Pigan
Options :
212807127345. 1
212807127346. 2

212807127347. 3
212807127348. 4

Question Number : 457 Question Id : 21280731837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

g g 3T SRl §R € TR S e o 2 der o6 e Y EERRR §
(1) < 5oE =i

(2) TgH fEy

(3) unfe

(4)
gcollegeduniag
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Options :

212807127345. 1
212807127346. 2
212807127347. 3
212807127348. 4

Question Number : 458 Question Id : 21280731838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - 1L

List - I List - II

{A) Goods used in production process { Intermediate goods
and are durable in character

{(B) Inputs for production () Flows

(C) Machines in a factory (III) Capital goods

(D) Annual profits {IV) Stocks

Choose the correct answer from the options given below :

(1) (A0, (B)-(I), (O, (D}(IV)
(2) (A, (B)-(TI), (O-(ID), (DHIV)
(3) (A, (B}-(UI), (O-(IV), (D))
(4) (A1), (B)-(0), (O-(1V), (D)}-(I)

Options :

212807127349. 1
212807127350. 2
212807127351.3
212807127352. 4

Question Number : 458 Question Id : 21280731838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Teil-1 § GEI-11 %1 T i
-1

(A) FeareT wimen F w1 el fears wopfa = Akt 1
(B) sewved & ferw gy & aelt o

(C) wrREM F [t 1 e

(D) Enfiies o

i few e fawedi & 4 W98 39 91 = Fifen .

(1) (A0, ByI), (O)-(11D), (D)-(IV)
(2) (A, ( )( D), (O-(1D, (D}-(1V)
(3)  (A)-(D), (B)-(TIT), (C)-(IV), (D)-(II)
(4) (&) (IH) (B)-(D), (C)-(1V), (D)-(I0)

gcollegeduniag
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Options :

212807127349. 1
212807127350. 2
212807127351. 3
212807127352. 4

Question Number : 459 Question Id : 21280731839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following is not true for capital receipts ?
(1) They are regular and recurring in nature
(2) They either create any liability or reduce any asset of government
(3) E.g Loans and Borrowings
(4) They relate to future obligation fo return or disinvestment of assets
Options :
212807127353 1
212807127354. 2

212807127355.3
212807127356. 4

Question Number : 459 Question Id : 21280731839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frefeafiad § @ i & o $ofrg wiedl & ded § wd 8§ 2

(1) Carafes sq § 4 Frafaa v sredt @t €1

(2) & qeER Tt weft wiftat fm & e e R wefedl wa @
(3) & 3l T

(4) Hufa o fafera wfess § o an sigref o fadrrd 9 81

Options :

212807127353. 1
212807127354. 2
212807127355. 3
212807127356. 4

Question Number : 460 Question Id : 21280731840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

s collegedunia:

-



Which of the following definition is correct answer of the production possibility set of the

economy ?

(1) The collection of all possible combination of the goods and services that can not be produced

a fixed amount

(2) The collection of all possible combinations of goods and services that can be produced from
a given amount of resources and a given stock of technological knowledge

{3) The combination of different fype of goods and its utilisation are related with each other

(4) The combination of all goods and its resources creates the production possibility curve

Options :

212807127357. 1
212807127358.2
212807127359. 3
212807127360. 4

Question Number : 460 Question Id : 21280731840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fresfafiga A @ syefermeen o Soqre e de 1 | uftsmn w6t gAre Hifd |
(1) SYcrE |ET h W quT a%g vEy, dasl & st grfEa |E & wedn § v i gen

FeATe T Brell B

(2) SuErs g w WA qd Ioorey el [ ¥ g seafed Y s owsRd ardt asdt aegedt au
Yenai F @it wiraa G % 9gg i Foed &1

(3) Tafr= g = aegsit & Sari we g STt wwh-gEy § S dd ¥
(4) | weged ofk o1 gurr & @At & Sene g g ffda S v

Options :

212807127357. 1
212807127358. 2
212807127359. 3
212807127360. 4

Question Number : 461 Question Id : 21280731841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag
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China’s Economic Development-Polices implemented - Arrange in order

A) Great leap forward

) Five year plan

(
(
(
(
(

E) Special Economic Zone

Choose the correct answer from the options given below :

(1) (B) (O, (A) (D). (B)

2 (B) (A) (D), (C). ()
(3) (B) (D), (A), (O B)
(4) (A) (B) (B), (D), (O
Options :

212807127361. 1
212807127362. 2
212807127363. 3
212807127364. 4

B) Nationalization of Enferprises and Land
C) Great Proletarian Cultural Revolution
D

Question Number : 461 Question Id : 21280731841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

=9 ) el feranre A o) & gura - 30 wHEar srafid @i

(A) e & wREd
(B) SushHT wer s <h1 Tgiientmr

(C) w8 Hearq wiestaes wifd
OEREELEETSE
(B) Tadry enff &=t

i few sru faered] o 4 9@ 392 1 99 Sife .

(1 B (©), (A) (D). (E)
(@) (B) (A) (D), ©). (E)
(3) (B) (D). (A), (). (B)
(4)  (A) (EB) (B) (D), (O

212807127361. 1
212807127362. 2
212807127363. 3
212807127364. 4

Question Number : 462 Question Id : 21280731842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

gcollegeduniag
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Make a correct chronological sequence of following.

A) Establishment of TISCO
B)  First Population census

D) Opening of Suez canal

(

(

(C) Zamindari system

(

(E) Introduction of railways

Choose the correct answer from the options given below :

(1) (A). (B), (O) (D), (E)
(2)  (B), (A) Q) (D), (B)
(3)  (©. (D) (E) (A), (B)
() (O, (B), (D), (B), (A)
Options :

212807127365. 1
212807127366. 2
212807127367. 3
212807127368. 4

Question Number : 462 Question Id : 21280731842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

D) TS g S SnEmTEe % o gera

E) @ w1 WY

i few sru faered] o 4 9@ 392 1 99 Sife .

(1) (&), (B), (C), (D), (B)
(2)  (B) (A), (O (D). (E)
(3) (O (D) (B) (A). (B)
(4) (C), (E), (D), (B), (A)

212807127365. 1
212807127366. 2
212807127367. 3
212807127368. 4

Question Number : 463 Question Id : 21280731843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

gcollegeduniag

-



Direct tax is called direct because it is collected directly from
(1) The producer on goods purchased
{(2) The sellers on goods sold
(3) The buyers of goods
(4) The income earners
Options :
212807127369 1
212807127370. 2

212807127371.3
212807127372. 4

Question Number : 463 Question Id : 21280731843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TEIH S U Faa § o R we Y yered 9 Y g g )

(1) Iearess St aege wlgm ¥
(2) Tedmen <t wegd Sar g
(3) axgsli  wley qwen
(4) o Sfd & R

Options :

212807127369. 1
212807127370. 2
212807127371.3
212807127372. 4

Question Number : 464 Question Id : 21280731844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

When total utility remains constant the value of marginal utility is
(1) Maximum
(2) Zero
(3) Negative
(4) Minimum
Options :
212807127373. 1
212807127374. 2

212807127375.3
212807127376. 4

Question Number : 464 Question Id : 21280731844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

s collegedunia:
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99 pa Irda fer &t | @ dera srdfi &t

(1) HAfuswman

(2) =

(3) SEUTEHH

(4) Trerem
Options :

212807127373. 1
212807127374. 2
212807127375.3
212807127376. 4

Question Number : 465 Question Id : 21280731845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the correct statements from the following :

(A) Deforestation means planting of more and more frees
{B) Deforestation leads to bicdiversity loss

{C) Deforestation contributes in the GDP of the country
(D) Deforestation leads to noise pollution

(E) Environment degradation is induced by poverty in India
Choose the correct answer from the options given below :
(1) (A)and (B) only

{2) (D) and (E) only

(3) (B) and (E) only

(4) (O and (E) only

Options :

212807127377. 1
212807127378. 2
212807127379. 3
212807127380. 4

Question Number : 465 Question Id : 21280731845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-
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e fofiga A 4 @l a1 vgam i .

(A) =i o o1 Sty @ oifires gaaraor )

(B)  sra=fraeo S fafaua = anm wear ¥

(C)  rar=fiereor 3W % enet Se] See § W S ¥
(D) sra=freren e wgwor 9t s &

(B) e # wiral) gro watervor it Frefio (ar) den ¥
i e 1 Topedi & & A& S w1 =g i

(1) e (A) i (B)

(2) % (D) 3R (E)

(3) % (B) W (E)

(4) ¥ (C) 3 (B)

Options :

212807127377. 1
212807127378. 2
212807127379. 3
212807127380. 4

Question Number : 466 Question Id : 21280731846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

What is the other name of the central problem of economy-For whom to produce ?
(1) Problem of distribution

(2) Problem of allocation of resources

(3) Problem of quantities of production

(4) Problem of choice of techniques

Options :

212807127381. 1
212807127382.2
212807127383.3
212807127384. 4

Question Number : 466 Question Id : 21280731846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Fieferaeen 1 HEg e - IeareH ferass forg for s’ W ogE A AW 2
(1) TeraRur =) wHe

(2) |l % SffEe i e

(3) SEUTEH I HEAT ] GHEA

(4) aFHE F P H wEEN

Options : &
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212807127381. 1
212807127382. 2
212807127383. 3
212807127384. 4

Question Number : 467 Question Id : 21280731847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

is the rate at which RBI borrows money from Commercial Banks.

(1) Bank Rate

{2) Reverse Repo Rate
(3) Repo Rate

(4) Cash Reserve Ratio
Options :

212807127385. 1
212807127386. 2
212807127387. 3
212807127388. 4

Question Number : 467 Question Id : 21280731847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

(RBI) %= T gr1 sareraifass dat 4t auR F g g e s ¥
(1) ¥F
(2) IA[WME

(3) ThE
(4) TS A ST
Options :

212807127385. 1
212807127386. 2
212807127387. 3
212807127388. 4

Question Number : 468 Question Id : 21280731848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Borrowings in government budget shows deficit.
(1) Primary
{2) Revenue
(3) Fiscal

(4) Secondary

Options :
212807127389. 1

s collegedunia:
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212807127390. 2
212807127391. 3
212807127392. 4

Question Number : 468 Question Id : 21280731848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

T wwe § Iurymm g § R icAl
(1) wrafas

(2) Usq

(3) USERE

(4) Todtos
Options :

212807127389. 1
212807127390. 2
212807127391. 3
212807127392. 4

Question Number : 469 Question Id : 21280731849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

GDP at factor cost may be derived from using one of the following formula. Choose the correct.
(1) GDPp-=GDPyp — NFIA
(4) GDPp-=GDPyp + NFIA

Options :

212807127393. 1

212807127394. 2

212807127395. 3
212807127396. 4

Question Number : 469 Question Id : 21280731849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fresffiad ot § & WU 0T W HHA S FoNG (GDPpe) 1 TMUEN 1 o1 WHdl § 1 H8 IR w1 g
it ;

(1) GDPge=GDPyp— NFIA

(2) GDPpr=GDPy, —NIT

(3) GDPge=GDPyp— Depr

(4) GDPp-=GDP,,+NFIA

Options :

s collegedunia:
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212807127393. 1
212807127394. 2
212807127395. 3
212807127396. 4

Question Number : 470 Question Id : 21280731850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Among the followings which is not included in Capital Account Balance ?
(1) Gifts and Donations

(2) Flow of Banking Capital

(3) Flow of Gold

(4) Loans

Options :

212807127397. 1
212807127398. 2
212807127399. 3
212807127400. 4

Question Number : 470 Question Id : 21280731850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Frefefaa § @ ot i aran 9 o wnfire =6 T s & 2
(1) Freew o sqeH
(2 Fwa I w5 yaE

(3) el w1 e
(4) Fsrmm
Options :

212807127397. 1
212807127398. 2
212807127399. 3
212807127400. 4

Question Number : 471 Question Id : 21280731851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The first and foremost role of money is that it acts as a :
(1) Unit of account

(2) Medium of exchange

(3) Standard of deferred payment

(4) Store of value

Options :
212807127401. 1

s collegedunia:
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212807127402. 2
212807127403. 3
212807127404. 4

Question Number : 471 Question Id : 21280731851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
gerg ot wd yo e ) it g vy § @t 2
(1) SHE H HYF

(2) Tafa= w1 qregy
(3) wfesy & g & vu g
(4) R FEUY

Options :

212807127401. 1
212807127402. 2
212807127403. 3
212807127404. 4

Question Number : 472 Question Id : 21280731852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - 1L
List -1 List - 1l
{A) Balance of Trade () International transaction related to financial assets
(B) Balance of payment () Export and import of services
(C) Netinvisibles () Goods, Service and Transaction in assests
(D) Balance on capital accounts (IV) Export and import of goods

Choose the correct answer from the options given below :
1) A)HD, BID, (ORI, (D)-(IV)
(2)  (AHIY), (B)-(IID), (O-{D), (D))
(3)  (AXID, B, O-V), (D))
@) (A, BIV), (O-1D), (D)D)

Options :

212807127405. 1
212807127406. 2
212807127407. 3
212807127408. 4

Question Number : 472 Question Id : 21280731852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

s collegedunia:
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o1 & A1 1 fgerr i
-1 gHI-11

(A) TSy (O sidfs weofoe & wrafere st dH-39
(B) v ¥ ()  Sensit = frafa of s
(C) Traa sge (1 aeged, danedl siv afegeafad = d9-8A

(D) defire e = Sy (V) wegeh = Pt i s
A fow ru Tormedi § & W s =61 o o

(1) (A)D, (B)}-(OD), (O~(ID), (D)-(IV)

(2)  (A)IV), (B)-(IID), (O)-(IT), (D)-(D)

(3) (A1), (B)-(IID), (O)-(IV), (D)-()

(4)  (A)D, (B}-(IV), (OHI), (D))

Options :

212807127405. 1
212807127406. 2
212807127407. 3
212807127408. 4

Question Number : 473 Question Id : 21280731853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The British rule in India led to .

(A) Collapse of India’s world famous Handicraft industry
(B) Development of Modern industry

(C) Development of Railways

(D) Growth of education sector

Choose the correct answer from the options given below :
(1) (A), and (C) only

(2) (A), and (B) only

(3) {Q), and (D) only

(4) (B), and (C) only

Options :

212807127409. 1
212807127410. 2
212807127411.3
212807127412. 4

Question Number : 473 Question Id : 21280731853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag
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g § fafew wwaq < g

(A) 9Rd & Teree ufg eafiey =i w61 ydH

(B) enyfren St 1 forery
(C) @8 1 faswmy
(D) T & & =1 Frserg

= few o famredi & 9 W S99 Sifsn .

(1) F=e (A), RO
() Faed (A), 3R (B)
(3) et (C), 3R (D)
(4 FEd (B), Q)

Options :

212807127409. 1
212807127410. 2
212807127411. 3
212807127412. 4

Question Number : 474 Question Id : 21280731854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Which is not a part of progress of china ?

(1) Great leap forward
(2) One child norm
(3) Capitalist economy
(4) Commune system
Options :
212807127413, 1
212807127414.2

212807127415. 3
212807127416. 4

Question Number : 474 Question Id : 21280731854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Freffatias 8 @ o = & fawm @ Tan @i & 2

(1) ¥ =i wrREg

(2w Ry Aifa

(3) UsTrard) sefeyeren
(4) WA EEE

Options :
212807127413. 1
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212807127414. 2
212807127415. 3
212807127416. 4

Question Number : 475 Question Id : 21280731855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value

Comprehension MCQ

Match List - I with List - IL

List - List - II

(A) Institution that accept public deposits () Issuance of currency notes

(B) The central Bank of India () Acceptance of deposit from public
(C) Function of a Central bank {IIl) Reserve bank of India

(D) Function of Commercial bank {IV) Commercial bank

Choose the correct answer from the options given below :
(1)  (AIV), (B)D), (O)-(1D), (D)-(II)
(2)  (AIV), (B)-(IID), (CO)-(I), (D)-(II)
(3) (AyD), (B)-(II), (O~(IV), (D)-(I)
(4) (A1), (By-(I1I), (CO(ID, (D)-(IV)

Options :

212807127417. 1
212807127418. 2
212807127419. 3
212807127420. 4

Question Number : 475 Question Id : 21280731855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Heit-1 & Fe-11 61 figedrd i

e I
(A) Ty Sl S R ST TR e ¥ (O  weErw fetas

(B) wreds feord S () e & S ) TR e
(Q FEm ¥ A @y sty foed d6
(D) sraefas d% w1 w (avy saraefe

= o u fasedi § O |E 9 1 999 Hif
(1)  (A)-IV), (B)-(D), (O~1D), (D)-(1I0)
(2)  (A)IV), (B)(IID), (O-(D), (DI
(3) (A1, B)-(IL), ({O)-(IV), (D)-(I)
(4) (A, (B)-(UI), (O-(1D), (D)-(IV)

Options :
212807127417. 1

212807127418. 2
212807127419. 3 .
s collegedunia:
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212807127420. 4

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

2
2128072512
No

null

Question Number : 476 Question Id : 21280731856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Based on the following diagram answer the question :

yll
£ p E2 AD?
e L AD!
E ) r
. > X
© 1 ¥21ncome
The gap E'F in the diagram indicate .

(1) Deficient demand

(2) Equilibrium income

(3) Excess demand
(4) Full employment level of output

Options :

212807127421. 1
212807127422. 2
212807127423.3
212807127424. 4

Question Number : 476 Question Id : 21280731856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl

-
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fou o wrfer (oM@ ) & SR U 4y &7 3T Sy

yn
2
Q| _EEL——AD
E /- AD
5 X
© N ¥2 come

e § BF o fwerm gata @

(1) =7 6P (Deficient demand)
(2) Hr=% ™ (Equilibrium income)
(3) ereafies i

(4)  yof sy 1w

Options :

212807127421. 1
212807127422.2
212807127423. 3
212807127424. 4

Question Number : 477 Question Id : 21280731857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Based on the following diagram answer the question :

V4
91: F E2 AD?
s a 1
B AD
. >
© ¥1 ¥21ncome
Given initial investment is ¥ 200 crores and MPC=0.8. If autonomous investment increases by
¥ 50 crores, the income will increase by ¥ crores.
(1) 150
(2) 200
(3) 250
(4) 300
Options :

212807127425. 1
212807127426. 2
212807127427. 3
212807127428. 4

Question Number : 477 Question Id : 21280731857 Question Type : MCQ Option Shuffling : No Is Question Mandaforv - Na Calenlatar - None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
fou w0 amfeas (M@ ) & YR 91 49 T S0 ST
y F
E: F Ez AD?
4 1
i AD
(5
O - »X
Y1 ¥2 Income

yrfts P 7200 #3g 3R MPC=0.8 ¥1 =y waraa frder § 250 % ) ofg & 3 o e F gfg

T g Enl
(1) 150
(2) 200
(3) 250
(4) 300
Options :

212807127425. 1
212807127426. 2
212807127427.3
212807127428. 4

Question Number : 478 Question Id : 21280731858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Based on the following diagram answer the question :

yl\
) E2 AD?
< E : AD!
E . ]
. >
© 1 Y2 ncome

Identify the correct statement from the following statements :
(1) MPS and investment multiplier are directly related to each other
(2) MPS and investment multiplier are inversely related to each other
(3) MPC and investment multiplier are directly related to each other
(4) MPC and MPS both have no relation with investment multiplier
Options :
212807127429 1
212807127430. 2

212807127431.3
212807127432. 4
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Question Number : 478 Question Id : 21280731858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

feu o wrfer (2@ ) & ST U 4y T 3T Sy ¢

yJ\
2
2|l
E /- AD
45°) !
» > X
© N ¥2 ecome

Fresferfiad wod & o) s o eI wifag

(1)  MPS 3R Fder yores wekh e § weuy vy § weafeg €
(2) MPS iR frda i e gE @ wfvely 9 E 7

(3) MPC i Frém e weh gt 8 v 98 8d 8

(4) MPC 3R MPS %1 f3e 7ues & gray 76l @ §

Options :

212807127429. 1
212807127430. 2
212807127431. 3
212807127432. 4

Question Number : 479 Question Id : 21280731859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

Compl

Based on the following diagram answer the question :

yll
=) 2 AD?
< F E: AD!
E ) | ]
: »X
© "1 ¥ come

To deal with the gap E'F, the central Bank will

{1) Decrease the Bank Rate

(2) Decrease the cash reserve ratio

(3) Decrease the Repo rate

(4) Sells securities in the open market

Options :
212807127433. 1
212807127434. 2
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212807127435. 3
212807127436. 4

Question Number : 479 Question Id : 21280731859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
fau 7o wrfeE (200 @ ) & MUR UT 49 T ST S
y A
E" F E2 AD?
L 1
£ AD
450 ¢
* »X
© Y1 ¥2 ncome

FEM & FEN EF W (30 W e srwm |
(1) FEHdwR
(2) HFE Y U H Al

(3) Yo q2F wdi
(4) g& arem H gfayfad ot s
Options :

212807127433. 1
212807127434. 2
212807127435.3
212807127436. 4

Question Number : 480 Question Id : 21280731860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Based on the following diagram answer the question :

y}l

s
. X

© 1 Y2 thcome

Identify the reason for shifting of the Aggregate Demand (AD) curve from AD! to AD?.
(1) Increase in savings by households

(2) Increase in taxes by government

(3) Increase in imporis

(4) Increase in investment

s collegedunia:
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Options :

212807127437. 1
212807127438. 2
212807127439. 3
212807127440. 4

Question Number : 480 Question Id : 21280731860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

fau

yJ
=
<

MY WA (31T ) & MU UT J99 T 391 Sy ¢

1:.' E2 AD2
AD!

ra

E 1

remaE ..

[a]
45 X

&

He i T ADL o ¥ AD? o ) a0 flagsn ¥ S 4 vgee i

(1
(2)
(3)
(4)

1 ¥2 lncome

e g wEd 9 9fg
R BRI T H gfg
s | gfg
Trora | gfg

Options :

212807127437. 1
212807127438.2
212807127439. 3
212807127440. 4

Sub-Section Number : 3
Sub-Section Id : 2128072513
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 481 Question Id : 21280731861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2
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Read the below paragraph carefully ansewr the question :
Case study-11

Poverty has many faces, which have been changing from place to place and across time and has
been described in many ways. In pre-independent India, Dadabhai Naoroji was first to discuss
the concept of poverty line. In post-independent India, there have been several attempts to work
out a mechanism to identify the number of poor in the country. The official data on poverty is
made to the public by the planning commission. It is estimated on the basis of consumption
expenditure data collected by the National Sample Survey organisation. Most poverty alleviation
programmes implemented are based on the perspective of the five year plans. The government
has a variety of programmes to generate wage employment for the poor unskilled people living in
rural area.

Which of the foliowing is correct answer to discuss the concept of a poverty line in pre-independent
India ?

(1) Minimum expenditure cost

(2) Jail cost living

(3) Calculate expenditure on base price

(4) Adult expenditure cost

Options :

212807127441. 1
212807127442. 2
212807127443. 3
212807127444. 4

Question Number : 481 Question Id : 21280731861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2
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yargdll Wer R I Syt )

g ga e o Frefaan e ) sveraron 93 fyaw w3 fore e o ad § @ wdt w9 ge Hif
(1) ety e s

(2) e H ety wd

(3) (FW) AT KNG YT 4 1 T

(4) IR S A
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212807127442. 2
212807127443. 3
212807127444. 4

Question Number : 482 Question Id : 21280731862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Read the below paragraph carefully ansewr the question :
Case study-11

Poverty has many faces, which have been changing from place to place and across time and has
been described in many ways. In pre-independent India, Dadabhai Naoroji was first to discuss
the concept of poverty line. In post-independent India, there have been several attempts to work
out a mechanism to identify the number of poor in the country. The official data on poverty is
made to the public by the planning commission. It is estimated on the basis of consumption
expenditure data collected by the National Sample Survey organisation. Most poverty alleviation
programmes implemented are based on the perspective of the five year plans. The government
has a variety of programmes fo generate wage employment for the poor unskilled people living in

rural area.

When did the “Task force on projections of minimum needs and effective consumption demand’form

to identify the number of poor in our country ?

(1) 1962
(2) 1976
(3) 1979
(4) 1989
Options :

212807127445. 1
212807127446. 2
212807127447. 3
212807127448. 4

Question Number : 482 Question Id : 21280731862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2
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w0 N FY o g & e qd v 9 wd gy g wd A 3 Fredqa-—ven ) srayro w faar few
o1 | CEAen Wil o B wred | Treleran S 5 s % 5w foeu T 1 Arern sy % gra Tk
§ grafera sfuenfe aifed fou mu) o sraer e oo ad swieSeE gr s ol sr F
3 X Fop | g Tk e wedwel s 99 oy Qemedl 36 ufden & st o ey e
R G 31T Arsrnstl Y ardior sl § w8 arer stwififa el & She 61 genrd & fer JsmiR aen
yargll Yer R I Sy S

aqrd § Fef &l it den A we wE & e werdt s 4 i Ry snavsE ST i o’ R
ey wfore feram e o ?

(1) 1962
(2) 1976
(3) 1979
(4) 1989
Options :

212807127445. 1
212807127446. 2
212807127447. 3
212807127448. 4

Question Number : 483 Question Id : 21280731863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2

Read the below paragraph carefully ansewr the question :
Case study-11

Poverty has many faces, which have been changing from place to place and across time and has
been described in many ways. In pre-independent India, Dadabhai Naoroji was first to discuss
the concept of poverty line. In post-independent India, there have been several attempts to work
out a mechanism to identify the number of poor in the country. The official data on poverty is
made to the public by the planning commission. It is estimated on the basis of consumption
expenditure data collected by the National Sample Survey organisation. Most poverty alleviation
programmes implemented are based on the perspective of the five year plans. The government
has a variety of programmes fo generate wage employment for the poor unskilled people living in
rural area.

From 1973 to 2012 the poverty levels in some states were above the national poverty level. Choose
the correct answer from the options :

(1) Odisha, Bihar, Uttar pradesh and Assam

(2) Odisha, Madhya pradesh, Bihar and Uttar pradesh
{3) Bihar, Odisha, Assam and West Bengal

(4) Bihar, Assam, Uttar pradesh and West Bengal

Options :
gcollegeduniaa
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212807127449. 1
212807127450. 2
212807127451. 3
212807127452. 4

Question Number : 483 Question Id : 21280731863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

fou U eF=eE & MU T UFA &I I ST ¢

Uh{UT HEGT

Faeleen & 1R U 8, S UOE & STYUR G U @ 9 SO W W Eed @ §, Rt sren fafis
w0 N FY o g & e qd v 9 wd gy g wd A 3 Fredqa-—ven ) srayro w faar few
o7 | T Wi & o e | THederan SHEUE 5 sTheH % %y T T Arern s % g Freda
§ grafera afuefie afes fou mu) aem e Fvmer Sooer g smiAESeE gr Susirsr ok sr %
3 9T Fop | g Tl e swedwe sl i oy Aemedl 36 uftden & st o oy e
R G 3! Arsrstl Y ardior sl § @A arer stwififa el & She 1 e % fr Jsmir aen
yargdll Wer R I Syt )

1973 @ 2012 e Frefaan 1 et o O O wfrn Fredaen s @ wae on1 fu st fasedl 9 Wi @ gara

SHife ;
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Options :

212807127449. 1
212807127450. 2
212807127451. 3
212807127452. 4

Question Number : 484 Question Id : 21280731864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

gcollegeduniag

-



Read the below paragraph carefully ansewr the question :
Case study-11

Poverty has many faces, which have been changing from place to place and across time and has
been described in many ways. In pre-independent India, Dadabhai Naoroji was first to discuss
the concept of poverty line. In post-independent India, there have been several attempts to work
out a mechanism to identify the number of poor in the country. The official data on poverty is
made to the public by the planning commission. It is estimated on the basis of consumption
expenditure data collected by the National Sample Survey organisation. Most poverty alleviation
programmes implemented are based on the perspective of the five year plans. The government
has a variety of programmes to generate wage employment for the poor unskilled people living in
rural area.

Which of the following programme provides partial financial assistance to SHGs for self-employment
activities ?
(1) Swarnjayanti Gram Swarozgar Yojana
(2) Prime minister's Rozgar Yojana
(3) Self-employment programmes are Rural employment generation programme
(4) National rural development mission
Options :
212807127453. 1
212807127454. 2

212807127455. 3
212807127456. 4

Question Number : 484 Question Id : 21280731864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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212807127454. 2
212807127455. 3
212807127456. 4

Question Number : 485 Question Id : 21280731865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Read the below paragraph carefully ansewr the question :
Case study-11

Poverty has many faces, which have been changing from place to place and across time and has
been described in many ways. In pre-independent India, Dadabhai Naoroji was first to discuss
the concept of poverty line. In post-independent India, there have been several attempts to work
out a mechanism to identify the number of poor in the country. The official data on poverty is
made to the public by the planning commission. It is estimated on the basis of consumption
expenditure data collected by the National Sample Survey organisation. Most poverty alleviation
programmes implemented are based on the perspective of the five year plans. The government
has a variety of programmes fo generate wage employment for the poor unskilled people living in

rural area.

How many rural workers got employment opportunities under Mahaima Gandhi National Rural

Employment Guarantee Act in 2013-2014 ?
(1) About seven crore

(2) About five crore
(3) About 7.5 crore
(4) About six crore

Options :

212807127457. 1
212807127458.2
212807127459. 3
212807127460. 4

Question Number : 485 Question Id : 21280731865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2
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fou U eF=eE & MU T UFA &I I ST ¢

Uh{UT HEGT

Faeleen & 1R U 8, S UOE & STYUR G U @ 9 SO W W Eed @ §, Rt sren fafis
w0 N FY o g & e qd v 9 wd gy g wd A 3 Fredqa-—ven ) srayro w faar few
o7 | T Wi & o e | THederan SHEUE 5 sTheH % %y T T Arern s % g Freda
§ grafera afuefie afes fou mu) aem e Fvmer Sooer g smiAESeE gr Susirsr ok sr %
3 9T Fop | g Tl e swedwe sl i oy Aemedl 36 uftden & st o oy e
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